



~~$\frac{d}{dx} x^2 e^x = 2x e^x + x^2 e^x$~~

$\frac{d}{dx} x^2 e^x = 2x e^x + x^2 e^x$

$$\int x e^x dx = x e^x - \int e^x dx$$

$$\int x e^x dx = x e^x - e^x + C = (x-1)e^x + C$$

$\int \frac{x e^x dx}{u \frac{du}{dx}}$

$uv - \int v du$

$v = e^x$

$u = x$

$\int u dv = uv - \int v du$

$\int x^2 e^x dx = \frac{1}{2} \int e^u du = \frac{1}{2} e^u + C$

$u = x^2$

$du = 2x dx \Rightarrow x dx = \frac{du}{2}$

$d(uv) = u dv + v du$

$uv = \int u dv + \int v du$

یاد آوری

$$x^2 e^x - 2 \int x e^x dx$$

$$= x^2 e^x - 2 \left( (x-1)e^x \right) + C$$

$$\int \underbrace{2x^2}_{u} \underbrace{e^x dx}_{du} = \int \underbrace{2x^2}_{u^2} \underbrace{e^x dx}_{du}$$

$$u = x^2$$

$$du = 2x dx$$

$$v = e^x$$

$$2(u-1)e^u + C =$$

$$2(\sqrt{x}-1)e^{\sqrt{x}} + C$$

$$\int e^{\sqrt{x}} dx = 2 \int u e^u du$$

$$u = \sqrt{x}$$

$$du = \frac{1}{2\sqrt{x}} dx \Rightarrow dx = 2u du$$

$$\frac{du}{dx}$$

$$\int e^x \sin x dx = e^x (\sin x - \cos x) + C$$

$$\int e^x \sin x dx =$$

$$e^x (\sin x - \cos x)$$

$$\int e^x \sin x dx = e^x \sin x - \int e^x \cos x dx$$

$$= e^x \sin x - \left[ e^x \cos x + \int e^x \sin x dx \right]$$

$$= e^x \sin x - e^x \cos x - \int e^x \sin x dx$$

$$\int e^x \cos x dx = uv - \int v du$$

$$= \cos x e^x + \int e^x \sin x dx$$

$$\int e^x \sin x dx = \frac{d}{dx}$$

$$uv - \int v du = \sin x e^x - \int e^x \cos x dx$$

$$v = e^x$$

$$u = \sin x$$

$$= x \tan^{-1}(x) - \frac{1}{2} \ln |x^2 + 1| + C$$

$$= x \tan^{-1}(x) - \int \frac{x dx}{x^2 + 1}$$

$dt = 2x dx$

$$= x \tan^{-1}(x) - \frac{1}{2} \int \frac{dt}{t} =$$

$$= x \tan^{-1}(x) - \frac{1}{2} \ln |t| + C$$

$$\int \frac{dx}{\tan x} = \int \frac{dx}{\frac{\sin x}{\cos x}} = \int \frac{\cos x dx}{\sin x}$$

$$u = \tan x$$

$$v = x$$

$$\int \frac{1}{\tan x} dx$$

$\frac{d}{dx}$

$$\int \sin(u) e^u du =$$

$$e^u (\sin u - \cos u) + C =$$

$$\int \frac{\sin(\ln x) - \cos(\ln x)}{2} dx + C = x \left( \frac{\sin(\ln x) - \cos(\ln x)}{2} \right) + C$$

$$\int \sin(\ln x) dx$$

$$u = \ln x$$

$$du = \frac{1}{x} dx \Rightarrow dx = x du = e^u du$$

$$\frac{d}{dx}$$

$$\int u \cos u \, du =$$

رابطه جیبی

انتگرال با جیبی

① حل مسئله

---


$$\int \arcsin x \, dx$$

$u = \arcsin x$

$\sin u = x \quad dx = \cos u \, du$

$$\frac{1}{2} \int t^{\frac{1}{2}+1} dt =$$

$$\frac{1}{2} \frac{t^{\frac{1}{2}+1}}{\frac{1}{2}+1} + c = \frac{1}{2} \frac{(1-x^2)^{\frac{3}{2}}}{\frac{3}{2}} + c$$

دو

$$\int \frac{x}{\sqrt{1-x^2}} dx = -\frac{1}{2} \int \frac{dt}{\sqrt{t}} =$$

$t = 1-x^2$

$dt = -2x \, dx \Rightarrow x \, dx = \frac{dt}{-2}$

$$\int \frac{\arcsin x \, dx}{u \, dx}$$

$= x \arcsin x - \int \frac{x}{\sqrt{1-x^2}} dx$

دو

$$\int \ln x \, dx$$

$$\int \underbrace{x \ln x \, dx}_u \quad \frac{du}{dx}$$

$$= \frac{\ln x \cdot x^2}{2}$$

$$= \frac{1}{2} x^2 \ln x - \frac{1}{4} x^2 + C$$

$$- \left\{ \frac{x^2}{2} \cdot \frac{1}{x} dx \right\} = x \ln x - x + C$$

$$\int \underbrace{\ln x \, dx}_u = \int u \cdot \frac{dx}{dx} = \int u \cdot \frac{du}{u} = \int \frac{du}{u}$$

$$= x \ln x - \int \ln x \, dx =$$

$$x \ln x + C$$

$$\int x \sin x \, dx = ?$$

$$\int \underbrace{\frac{x \cos x \, dx}{u}}_v = uv - \int v \, du = \frac{du}{dx}$$

$$dv = \cos x \, dx$$

$$v = \sin x$$

$$\int \frac{1}{\sqrt{x}} \operatorname{arcsinh}\left(\frac{x}{2}\right) + \frac{1}{\sqrt{x}} \operatorname{arcsinh}\left(\frac{x}{2}\right) x^3 dx$$

$$\int \frac{x^3}{\sqrt{4+x^2}} dx = \int \frac{x^3 dx}{2\sqrt{1+\frac{x^2}{4}}}$$

$x = u$

$$= \frac{1}{2} \int \frac{u^3 du}{\sqrt{4+u^2}} = \frac{1}{2} \int \left( \frac{u}{\sqrt{4+u^2}} - \frac{4}{\sqrt{4+u^2}} \right) du$$

$$\int \frac{x^3}{\sqrt{4+x^2}} dx$$

$4+x^2 = u$   
 $du = 2x dx$

$$du = (e^{2x} + 2e^{2x}x) dx =$$

$$e^{2x} (1 + 2x) dx$$

$$dx = \frac{du}{e^{2x} (1 + 2x)}$$

$$u = x e^{2x}$$

$$\frac{d}{dx} (x e^{2x}) = e^{2x} + 2x e^{2x}$$

$$\int 2u e^{2x} dx = -2(u-1)e^{2x} + C$$

$$= -2(x-1)e^{2x} + C$$

$$C_{int} = u$$

$$\int e^{\sin 2t} dt = \int d(\cos t)$$

$$2e^{\sin t} \cos t dt = \int \sin t \cos t dt$$

$$\sin 2t = 2 \sin t \cos t$$

$$\int (\arcsin x)^2 dx$$

$$\int y \sin y dy$$

$u = \sin x$

$$= \int \cos x (1 - \sin^2 x) dx$$

$$= \int (u^2) du = \frac{u^3}{3} + C = \frac{\sin^3 x}{3} + C$$


---


$$\int \cos^3 x dx = \int \cos x \cos^2 x dx$$

$$\int x \ln(1+x) dx$$

$$\int \frac{e^{-x}}{1+x} dx = \frac{-e^{-x}}{1+x} + \int \frac{e^{-x}(1+x)}{(1+x)^2} dx$$

$$= \frac{-e^{-x}}{1+x} + \frac{1}{1+x} + C$$

$$dv = \frac{1}{(1+u)^2} du \quad u = ne^{ax} \quad \frac{d}{dx}$$

$$v = \frac{-1}{1+u}$$

$$du = e^{ax}(1+u) dx$$

$$= \left\{ \begin{array}{l} (\sin^2)^2 \sin dx \\ (\cos^2)^2 \sin dx \\ (\sin^2)^2 \cos dx \\ \cos^2 \end{array} \right.$$

$$\left\{ \begin{array}{l} \int \sin^2 \cos dx \\ \int \sin^2 \sin dx \\ \int \cos^2 \sin dx \\ \int \cos^2 \cos dx \end{array} \right. \frac{dx}{2}$$

$$\left\{ \begin{array}{l} \int \sin^2 \cos dx \\ \int \cos^2 \sin dx \end{array} \right. \frac{dx}{2}$$

$$= \frac{1}{2} x + \frac{\sin 2x}{4} + C$$


---


$$u = \cos^2 \quad \left\{ \begin{array}{l} = x \cos^2 + \int x 2 \cos \sin \\ dx = -2 \cos \sin \\ = x \cos^2 + \int x \sin 2x dx \end{array} \right. + C$$

$$\int \cos^2 dx = \int \left( \frac{1 + \cos 2x}{2} \right) dx$$

$$\cos^2 = \frac{1 + \cos 2x}{2}$$

$$\sin^2 = \frac{1 - \cos 2x}{2}$$

$$\int \frac{1}{\sqrt{1-x^2}} dx = \int \frac{\cancel{\cos t} dt}{\cancel{\cos t}}$$

$$x \in (-1, 1)$$

$$x = \sin t$$

$$dx = \cos t dt$$

$$= t + C$$

$$= \sin^{-1} x + C$$

$$\int \sin x dx =$$

$$\int (\sin x)^2 dx = \int \left( \frac{1 - \cos 2x}{2} \right) dx = \dots$$

$$= \frac{1}{2} \int (1 - \cos 2x) dx$$

Jim